06277 inch IHIEE R 424 |, EHE | Btz TAT, 24

INCH 7= ik Be
Parts —

BRRENFRL,
FE , MEER PF31-DIN 7708 , B , MiZfo R4NE , K4
B,

I
BEZE Y| AL TE,

BEER
ANAESSELENSELENFLR,

W%
sga A s
L1

13
06277-4080XCN 80 0,312 24 16 28 218 x M6 x 40
06277-4080XCO 80 0,375 24 16 28 218 x M6 x 40
06277-4100XCO 100 0,375 26 17 33 218 x M6 x 40
06277-4100XCP 100 0,5 26 17 33 218 x M6 x 40
06277-4125XCO 125 0,375 31 18 33,5 222 x M8 x 56
06277-4125XCP 125 0,5 31 18 33,5 222 x M8 x 56
06277-4160XCP 160 0,5 36 20 39 226 x M10 x 80
06277-4160XCQ 160 0,625 36 20 39 226 x M10 x 80
06277-4200XCQ 200 0,625 42 24 45 226 x M10 x 80
06277-4200XCR 200 0,75 42 24 45 226 x M10 x 80
06277-4250XCR 250 0,75 48 28 51 231 x M12 x 102

© norelem www.norelem.com




06277 inch MEwEFH BFl , BERSG , THIIFWR, HHl

D3 L1 L3

06277-4250XCV 250 0,875 48 28 51 231 x M12 x 102

© norelem www.norelem.com



